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Direct materials - 60,000
Direct labour 30,000
Power (20% fixed) 20,000
Repairs and maintenance (15% fixed) 16,000
Depreciation (40% variable expenses) 12,000
24,000

Administrative Expenses (100% fixed)
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(¥) The standard
raw material cost for Produci
cing 300 units of Pr
oduct ‘A’

600 units of raw materials @ % 50/unit = ¥ 30,000 were as follows :

1,000 units of raw materials @ ¥ 40/unit = T 40,000

e Reael R s s
(%) FHNTEI T @0
(=) PG JeT ([T 9R
(3) BN IR &I |
(o) f=fiRe waraf (¥tF USHA Bestmaeial g FafRe Ranef fded s s

(=) &TG [T
SRR ERSERIAY
(3) wCE el (T30 |

Standard time allotted per unit is 30 hrs.
on is T 15.

During the month of June 2018, 3000 units are Produced in 75,000 hrs.
O+L+Y

onth is T 45,000.

Standard labour cost per unit of Producti

Actual Payment of Wages for the m
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(¥} In a factory, present sales is ¥ 12,00,000, but break-even sales is T 7,50,000. Total fixed expenses

18 ¥ 1,50,000.

Find out —
(1) Present profit
(1) Sales to eamn a profit of T 50,000
(111) Profit to be eamed from sale of T 15,00,000

(iv) Break-cven sales, if fixed cost is increased to ¥ 2,00,000.
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4
Sales — 4,000 units @ T 25 each 1,00,000
Materials consumed 40,000
Variable overheads 10,000
Labour charges 20,000
Fixed overheads 18,000 88,000

Net Profit 12,000

Calculate :
(a) The number of units by selling which the company will neither loss nor gain anything.

(b) The sales needed to earn a profit of 20% on sales.

(©)
selling price by 20%.

The extra units which should be sold to obtain the present profit if it is proposed to reduce the

(d) The selling price to be fixed to bring down its break-even point to 500 units under present conditions.
C+8+8+8

[ English Version |

The figures in the margin indicate full marks.
Group - A
Answer the following questions

1. Discuss in brief the advantages of Standard Costing.

2. Distinguish between Marginal Costing and Absorption Costing.

w

w
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Or,
Write short notes on (any mwo) -
(a) Margin of safety o
() Angle of Incidence
(¢} Cost-Volume-Profit Analysis.
Group - B

Answer the following questions

3. A Lud. produces four joint products — P P,, P3, P4. During a parti i ommon joint ¢
: our. ! 1> Po, P53, Py, Ing a particular period the ¢ joint costs
upto their separation included Direct Materials ¥ 1,64,000, Direct Labour Cost % 1,06,000 andJOlvctrhcatd
b b

Cost ¥ 44,000.
The quantities of outputs for the joint d i
: products during the year 2018 h = i
P, 4,000 units, P35 13,000 units and P, 3,000 units. g ave been ?1 10,000 units,
A technical survey assigned points for the four
: ] products as 3, 8, s, i
Show the apportionment of the joint costs among the Joint Products. o respectlvellyo.

Or,

From the following particulars find out the cost of production of by-products A and B at the point of

their separation from the main product X :

A B
(By-Product) (By-Product)
Selling Price per unit T18 T 36
Units Produced 750 300
% 4 TS5

Cost per unit after separation

Selling expenses are 25% of the works cost (considering both pre-separation and post-separation costs).

Selling prices have been fixed by adding a profit mergin of 20% of total cost (Cost of Sales).
10

Total cost upto separation point T 1,60,000.

I. (a) What is Activity Based Costing System?
(b) State two features of Activity Based Costing System.
. . 3+2+5
(c¢) Distinguish between Traditional Costing and Activity Based Costing.

Please Turn Over
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5. A company incurs the following expenses to produce 1,000 units of an article :

T

L4
Direct maternials 60,000
Direct labour 30,000
Power (20% fixed) 20,000
Repairs and maintenance (15% fixed) 16,000
Depreciation (40% variable expenses) 12,000
Administrative Expenses (100% fixed) 24,000

Prepare a flexible budget showing individual expenses of production levels at 1,500 units and
10

2000 units.

6. (a) What do you mean by ‘Marginal Cost’?
a cost of T 20 per unit

tion is fixed and 60%
3+7

(b) A C.0mpa.n.y_which has a capacity to produce 20,000 units is producing at
whzle utilising 50% of the capacity, 40% of the total cost in this connec
variable. If there is an offer to buy 8,000 additional units at ¥ 18, can this be accepted?

Or,
X Ltd. produces a variety of products each having a number of component parts. Product B takes
full capacity. B has a selling

5 1.10urs to produce a unit on a particular machine, which is working at
price of ¥ 100 and variable cost of ¥ 60 per unit. A component part P-100 could be made on the
same machine in two hours at a variable cost of Z 10 per unit. The supplier’s price for the component

is T 25 per unit.
Advise whether the company should buy the component P-100. (Make suitable assumptions 1
necessary). 1

Group - C
7. (a) Mention any three differences between ‘Standard Costing’ and ‘Budgetary Control’ system.

(b) The standard raw material cost for producing 300 units of Product ‘A’ were as follows :

600 units of raw materials @ ¥ 50/unit = ¥ 30,000
But, the cost of actual raw materials producing 300 units of Product ‘A’ were :

1,000 units of raw materials @ ¥ 40/unit =¥ 40,000.
Determine the following :

(i) Raw Materials Cost Variance

(ii) Raw Materials Price Variance

(iii) Raw Materials Usage Variance.
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(¢) From the following information of USHA manufacturing Co. Ltd., determine
(1) Labour Cost Variance
(i1) Labour Rate Variance
and
(i) Labour Efficiency Variance.
Standard time allotted per unit is 30 hrs.
Standard labour cost per unit of production is ¥ 15.

During the month of June 2018, 3000 units are produced in 75,000 hrs.

Actual payment of wages for the month is ¥ 45,000. 3+6+6

8. (a) Define ‘Absorption Costing’.
(b) In a factory, present sales is ¥ 12,00,000, but break-even sales is ¥ 7,50,000. Total fixed expenses is

% 1,50,000.
Find out —
(i) Present profit
(ii) Sales to earn a profit of ¥ 50,000
(iii) Profit to be earned from sale of ¥ 15,00,000

(iv) Break-evan sales, if fixed cost is increased to ¥ 2,00,000. 3+4+2+3+3

Or,
The following data are obtained from the records of a factory :
g
Sales — 4,000 units @ ¥ 25 each 1,00,000
Materials consumed 40,000
Variable overheads 10,000
Labour charges 20,000
Fixed overheads 18,000 88,000
| 12,000

Net Profit

Calculate :
(a) The number of units by selling which the company will neither loose nor gain anything.
(b) The sales needed to earn a profit of 20% on sales.
(c) The extra units which should be sold to obtain the p
selling price by 20%.
(d) The selling price to be fixed to bring down its break-

resent profit if it is proposed to reduce the

onditions.

even point to 500 units under present €
3+4+4+4




